Gram-Schmidt Orthogonalization I ..«
First three iterations in step #1 of [nln82].

Initial condition:

| fo) = A.
First iteration:

1Lifo) = |f1) = (folfi) = (foloL|fo) = 0.

Second iteration:

L) = 1f2) = Adlfo) = (filfe) = (flLIfi) +A01 (il fo) =0,
0 0
= (folf2) = (foloL|f1) +A1(folfo) =0
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Third iteration:

WLl fa) = |f3) — Azl f1) — Talfo)

= (folf3) = (faltL| f2) +D2 (fol f1) +T2 (f2| fo) = 0,
0 0 0

= (filfs) = (ilhL|fo) +A2(filf1) + T2 (f1]fo) = 0
—(f2lf2) 0
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A = filf)

= (folf3) = (foloL| f2) +A2 (fol f1) +T2(folfo) =0
—(f1]f2)=0 0
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